1. South Africa has vast amounts of natural countryside. , itis
the home of a large number of wild animals.

a) Consequently

b) However

c) Subsequently

d) Besides

2. The police arrested the suspects. , the judge found them
guilty.

a) Still

b) Conversely

c) Subsequently

d) Additionally

3. The new leisure centre is a lot cheaper than the old one. , the
facilities are not as good.

a) Nevertheless

b) Additionally

c) Furthermore

d) Therefore

4. The weather was absolutely terrible. , they still went camping.

a) Therefore



b) However

c) Subsequently

d) Additionally

5. The price of housing has increased dramatically. , S0 has the
price of gas and electricity.

a) Conversely

b) Conclusively

c) Furthermore

d) Nevertheless

6. When they are powerful, tornadoes often destroy buildings and
houses. they injure and kill people.

a) Still

b) However

c) Conversely

d) Moreover

7. Artificial Intelligence, this is one of the major new
breakthroughs in computer science.

a) Therefore

b) Additionally

c) Besides



d) However

8. I have a degree in modern languages.

German and Spanish.

a) However

b) Nevertheless

c) Besides

d) Therefore
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1)a, 2) ¢, 3)d, 4)b, 5)c, 6)d, 7)c, 8) d.

, | am fluent in French,



